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20H- 22 - HHAIR - SRIAR(BIH) Ol & o Jl 3 o HR=2 e
= Al 859,660 844,897 14,763 1.75%
ALY 800, 166 811,949 A11,783 A1.45%
nees 59,494 3,948 26,546 80.57%
Y 2HAHHY 0 0 0 0.00%
INGIEE=PN 853,371 844,897 8,474 1.00%
DIESLE SRS, 853,371 844,897 8,474 1.00%
2O EZMEBE U YASS MEOIER 793,877 811,949 A18,072 N2.23%
o220 ==A ZHe(AESHSESIAH) 793,877 811,949 18,072 N2.23%
WRES(FL=XD) 59,494 32,948 26,546 80.57%
SHIE(2A2SHSLSIH) 59,494 32,948 26,546 80.57%
] 6,289 0 6,289 =5
L] 6,289 0 6,289 =3
] 6,289 0 6,289 =5
OlHIBI(2I2S0SE3H) 6,289 0 6,289 =5




